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| Semester B.Com.3 Degree Examination, Nov./Dec. 2016
BUSINESS ENVIRONMENT
(Fresh and Repeater New Syllabus)

Time : 3 Hours Max. Marks : 80

Note: 1) Attemptall questions subject to internal choice.
2) Q. 11 SectionD is compulsory.

SECTION-A

1. Answer any ten of the following : : (10x2=20)
a) State any two characteristics of modern business.
b) What is mixed economy ? '
c) What is corporate social responsibility ?
d) Whatis e-governance ?
e) What is cultural environment ?
f) State any two main objectives of new economic policy.
g) What is technological environment ?
h) What is macro environment ?
i) State two objectives of SEBI.
j) Who are the stakeholders in business ?
k) Whatis legal environment ?
l) State two advantages of technology.

SECTION-B
Answer any three of the following : (3x5=15)
2. Briefly explain the micro environmental factors affecting business.
What is capitalism ? Explain its merits.
Explain the components of political environment.

Explain briefly the merits and demerits of CSR.
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Explain the negative effects of technology on business. M
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SECTION-C
Answer any two of the following : (2x15=30) :
7. What is globalisation ? Explain its merits and demerits. ‘
8. Discuss the pros and cons of government intervention in business.
9. Explain the impact of socio-cultural factors on business.

10. Explain the economic effects of technblogy on the economy.

SECTION-D
Case StUdy (Compulsory Question) : (1x15=15)

11. The recent decline in the bank rate policy exercised by RBI is ineffective to
control the price rise. But it leads to negative sign of inflation. As a result of this,
prices starts rising now-a-days drastically.

a) What are the effects of negative inflation pressure on Indian economy ?

b) What are the suitable measures to be exercised by the government for
further rise in prices ?

c) Do you suggest any other suitable measures to control the price rise situation ?
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1) BRR BHFS De3oD IRTTTTL TR SUTEFIR) 3920,
g) 9083 BORS omBeR?

h) R=3on, BORT 2oETesd ?

i) (SEBI) ‘&Y 03> 20280 eUTeBnesd S920.

j) RFEITE DT YONETIITTO 03500 ?

k) 58030 BORT 0BT ?

ciectan q&d QOB eﬂabira@éﬁeddi WTBOUD.
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